Ve RS

S’jnﬁ AL ;_%@\‘

REVISIONS
H&&gﬂkgml-_‘ BARREL ASSEMBLY BRACKET ATTACHMENT REV! DESCRIPTION DATE_| APPROVAL
_ ” CONCRETE/MASONRY: POWERS WEDGE-BOLT, 3/8 X 1-3/4° LONG |— DRAWING RELEASE 5-9-081 DM
o) T . (0/~4* MAX. WALL DPENING WIDTH — 7 - STEEL' TYPE 23 HWH THD CUTTING SCREW, 3/8-16 X 1
. —
A (CLEAR OPENING) (%) FOR PUSH-UP OPERATION' 4-1/8°
- VERTICAL f 4 FOR HAND CHAIN OPERATION: 4-7/8°
° HEADRODN | FOR ELECTRIC OPERATION' 5-5/8°
FOR OUTSIDE OF CHAIN DRIVE! 6-3/8°
° o0 NOTE: RIGHT SIDE DRIVE SHOWN
e T
4
-t — 6-1/27 —|
VA y, | [
N _
I 1eas fe=—ot
BRACKET .
\— gg{(%%ETE/ ‘ 10 SMALL MOUNTING PLATE ¢
_ é, el ISTALL ON BOTH JAMBS ¥ ole 5/16°% HOLE
FILLED BLOCK — 7 BRACET ATTACIHET T STEEL 2g e 18° 0C. MAX
L JAMBS OF METAL BUILDINGS) ﬁ
o _] ela ol
1 ”
_/ ] | l" 2 g
GUIDE
TEEL ! ! CONCRETE/FILLED BLOCK JAMBS
JaMBS ~
USING 1/4* X 1-3/4° POWERS WEDGE-BOLT
24 GA
CURTAIN %_é ] l— 23" —I
o " T
WALL 9 5/16"8 HOLE
OPENING F8265 L~ -
HEIGHT 25. St g 7 e 18° 0.C. MAX
(CLEAR OPENING) \Feaés S @4 GAUGE) et
SLAT J_B 0236 T =
. L) 2§’
ASTH 4653 GR 40 ZINC ﬁ
coA’ v
<OE PRE-PAINTED WITH 28 "I
SLIDE FULL COAT OF PRIMER AND
ek ASEEMBLY' BAKED SILICONIZED STEEL JAMBS
2,79  POLYESTER FINISH COAT USING 1/4-14 X 1* TEKS
r— p
SIDE_VIEV \_ EXTRUDED 16 GA (063) GUIDE MOUNTING DETAIL
ST INSIDE_ELEVATION BOTTOM BAR ASSEMBLY 6063-T6 ASTRAGAL
HEADROOM REQUIRED ALUMINUM TTOM BAR ASSEMELY ALL COMPONENTS SHALL BE
TPENING | VERTICAL | HORIZONTAL SEE SHEET 2 FOR NOTES R BQTTOM B ASTM A653 STEEL W/MIN
| HEIGHT | HEADROOM | HEADRODM | FY=33 KSI GALVANIZED
TRd 17 15 PER ASTM A653 G-90
:\;ER ALLOWABLE TRANSVERSE
VER DESIGN WIND LOADS C(PSF>
Ty 19 ar THESE CONFIDENTIAL DOCUMENTS SUBMITTED BY JANUS CONTATN INFORMATION OF A PROPRIETARY NATURE | - NA JANUS INTERNATIONAL CORPORATIONG
i MAX MAX DESIGN T BE REPRODUCED OR USED TO MANUFACTURE ANYTHING IN PART OR IN WHOLE FUR ANY
::‘1/_51 DOOR DOOR WIND LOADS %gg g?usgs THAN THAT WHICH IS NECESSARY FOUR PREPARATION OF BIDS OF ENGINEERING WITHOUT \TERIAL! 134 JANUS INTERNATIONAL BLVD TEMPLE, GA 30179
100 | . WIDTH | HEIGHT ¢FT) (PSF) THE EXPRESS PERMISSION OF JANUS WHICH MAY RECALL DICUNENTS AT ANY TIME. NA 770-562-2850/Fax 770-562-1991
w.%: & e NA © 2008 Janus International Corporation ~ All Rights Reserved
OVER 64" R +28.3/-336 | | yNLESS OTHERWISE SPECIFIED DIMENSIONS ARE IN INCHES AND TOLERANCES [oeroremos
Heo ar - oy 20 prypyserrn il 1 NA CERTIFIED WIND LOAD RATED
16'=0° o2 20 P15/ 25e DECIMAL FRACTIO! GLES HOLE DIAMETERS SPPROVALS DATE SERIES MD16 DOOR ASSEMBLY
- 2/ =23. A" _N*
e N o = - ey XX +03 &% oF UNDER 251 *3%4 CINDY wooTen | s-9-08 MAX. SIZE 10°-4* X 20'-0
THRU -47 \e/-ee XXX £00S +006 SIZE | DRAVING NUMBER: REVH
18°-0° 251 to S00
aveR 10-47 20 +17.4/-207 Sy / '@ER 00 008 DON MILLS s | - RSS000 —
23 2s5* =% E -003 APPROVED: ] Scae: SHEET o
Theu, = ;’/ *G DON MILLS 5-9-08 noNe | ™1 ™e
¥ ¥ L §
- 4
# JOSEPH H. DIXON, JR. (A
7 % A
2% 18627 ‘. g =
(D o Qi' =
% R



E | REVISIONS
REV| DESCRIPTION DATE | APPROVAL

— 2§ — | = DRAWING RELEASE 5-9-08] DM
— 2§ POVERS WEDGE-BOLT—| 1}2* | ToP  VIEW
SELF-DRILLING SCREW 174* X 1~3/4* LONG 14500 ,
1/4-14 X 1° LONG g - € 18° MAX. O.C.
€ 18" MAX. 0O.C. —— 3.040 3.780 —| 2680 —=]=— 2750
~ S i R 1
[ f : ] H—f i It
2y 2k / ] e _-I 1563 H—ws 4-! 1563 [
- =lr@ __ ©.438
; v EXISTING CONCRETE FRONT VIEW
OPENING WIDTH + 4-5/8° A‘ u70|~
CURTAIN WIDTH + S/8° _ { AI
1000
STEEL JAMBS CONC/FILLED BLOCK JAMBS
LH GUIDE MOUNT SHOWN RH_GUIDE MOUNT SHOWN 3x 0500 F/)_T_’
4,000 ()
f G
g | ! Vy + 905 L) —I° as21 L
2830 :
Vx 6 (PLF) CORTAN Vx 0 PLF> |
m A633 WITH Fy = 37 KSE J_ o\
THREE 3/8°% POWERS VT ASTH A650 G0 ¥
Vy - 107.7 PLE) WEDGE-BOLTS W/ 1-1/2*
MIN. EMBEDMENT IN
STEEL JAMBS CONCRETE/FILLED BLOCK JAMBS CONCRETE OR L‘ﬁ%ﬁs%gﬁéﬁ/ s o N
HWH_THREAD C
LH GUIDE MOUNT_ SHOWN RH_GUIDE MOUNT SHOWN THREE 3/8° STEEL THRU BOLTS - SIDE VIEW
INTO MIN. 1/8° STEEL. IF EXISTING
SUPERIMPOSED LOAD DIAGRAM IS MASONRY, FILL CELL W/2S500 PSI GROUT. DOOR MOUNTING BRACKET DETAIL
GENERAL NOTES
1. THIS ROLLING DOOR SYSTEM IS DESIGNED IN ACCORDANCE WITH ASCE 7-82, 8 SN AN CERTIFIED TESTING LABORATORIES, INC, TEST REPORT 11, GUIDE TO JAMB ATTACHMENT FASTENERS BEGIN 4° FROM
2007 FBC AND INTERNATIONAL BUILDING CODE 2006. NO. CTLA- . FLOOR AND END 3-1/2° BELOW TOP OF WALL OPENING.
9  ANCHOR NOTES: 12, TEST DOOR WALL OPENING SIZE 10-4° x 10'-0%
2. THIS ROLLING DOOR HAS BEEN TESTED IN ACCORDANCE WITH ASTM E-330 AND A, EMBEDMENT LENGTH DOES NOT INCLUDE STUCCD FINISH.
ANSI/DASMA 108 TO SAFELY RESIST A POSITIVE OR NEGATIVE WIND LOAD B. FOR HOLLOW MASONRY, FILL ALL CELLS @ ANCHOR WITH 2500 PSI GROUT.
AS NOTED BELOW. A TEST LOAD OF L5 X DESIGN LOAD HAS BEEN USED, © ANCHORS SHALL BE INSTALLED IN ACCORDANCE WITH MANUFACTURER'S
SPECIFICATIONS. »
DESIGN LOAD =*174 psr
-207 10, DOOR OPERATION TYPE TO BE PUSH-UP, HAND CHAIN, HAND CRANK OR ELECTRIC.
3, WIND LOADS FOR BUILDING OPENINGS SHALL BE DETERMINED BY A PROFESSIONAL
ENGINEER USING APPRUPRIATE WIND SPEED AND DESIGN CRITERIA. THIS BOOR AT NONDER:
MAY BE USED WHERE THE DESIGN LDAD MEETS OR EXCEEDS THE DESIGN LOAD iz m%?‘%’é"# DOCUENTS SUBMITIED BY JANUS CONTAIX INFURMATION OF A PROPRIETARY ATURE NA JANUS INTERNATIONAL CORPORATION®
FOR THE BUILDING OPENING. PURPOSE OTHER THAN THAT WHICH IS NECESSARY FOR PREPARATION OF BIDS OF ENGINEERING WITHOUT TERIAL: 134 JANUS INTERNATIONAL BLVD TEMPLE, GA 30179
4 SUPERIMPOSED LOADS ON THE JAMBS FROM THIS DOOR ARE DESIGNED AS Vx THE EXPRESS PERMISSIIN OF JARUS WHICH MAY RECALL DOCUNENTS AT ANY THE. NA 770-562-2850/Fax 770-562-1991
AND Vy HEREIN. ORS SHALL HAVE BUILDING ENGINEER VERIFY FINISH: - - !
ABEQUACY oF BUILDING STRUCTURE TO RESIST SUPERIMPOSED LDOADS Vx, Vy . NA © 2008 Janus International Corporation  All Rights Reserved
AND BRACKET LOADS SHOWN. UNLESS OTHERWISE SPECIFIED DIMENSIONS ARE IN INCHES AND TOLERANCES
S. ALL WELDING SHALL BE &ERFEAR;!EgTBgngl_JﬁINIFEAEL WELDERS IN ¢ e%%%%gczsm'_ ARE! CERTIFIED WIND LOAD RATED
WITH AW.S. SPECIFICATIONS .
CONFORM T AMS. 451 GRADE E-70. DECIMAL FRACTW‘ HOLE DIAMETERS oo SERIES MD16 DOOR ASSEMBLY
XX 403 :l: l[ UNDER 251 004 CINDY WOOTEN MAX. SIZE 10'-4" X 20°-0
6 DOORS SHALL BE PROVIDED WITH LOCK MECHANISMS LOCATED AT BOTH ENDS OF XXX £005 _......,, l : —
THE BOTTOM BAR. . 8 4 1 to .S00 +006 SIZE | DRAVING NUMBER: REVI
=003 DON MILLS s-5-8 | B RS3S000 —
7 ALL BOLTS AND WASHERS SHALL BE GALVANIZED OR STAINLESS STEEL WITH +008
A MINIMUM TENSILE STRENGTH OF 60 KSI. s t Y ﬂ oS00 Zgo3 — - =
Ze "'. 12 DON_ MILLS 5-9-08 none | =" 2 2

*nﬁf’ﬂmw‘@ s 0fz/0




